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=) UPCOMING ONLINE BATCHES

04 JAN 2023

01:00 PM to 03:00 PM

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

BILINGUAL

04 JAN 2023

02:00 PM to 04:00 PM

BANK ONLINE LIVE CLASS

BENGALI

January 2023

11 JAN 2023 18 JAN 2023

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL

18 JAN 2023

04:00 PM to 06:00 PM

BANK ONLINE LIVE CLASS

BENGALI

25 JAN 2023

03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

& www.mahendras.org e \ 7052477777/7052577777



Real Champs- Q

Thank u so much sir
Home work
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1.66
2.68.25
3.68.5
4.68
5.67



4,

31,

156, 499,

1228,

?

1.2556
2.2552
3.2559
4.2555
5.2554




521,

496,

447,

366,

245,

1.71
2.76
3.74
4.72
5.73




152,

156,

140,

176,

112,

?

1.216
2.221
3.219
4.212
5.214




9, 8,

14, 39,

0’)

°9

735

1.151
2.149
3.154
4.152
5.153




144 x 8.33% x 12167 ~ (23)*="?

1.129
2.324
3.516
4.276
5.485




\5625 x (2/5) + (65)2 = ?

1.4270
2.4280
3.4260
4.4250
5.NOT




504 +93% of ? + 98 = 648.5

1.50
2.42.5
3.98
4.56.8
5.NOT




66.67 % of 240 + 7% of 250 = 200

1.25
2.16
3.20
4.33
5.NOT




V1225-30+ (2 x 2) =2

1.19
2.9
3.30
4.35
5.NOT




V324 x 15+ 72 = 6 — 4% of 300 = ?

1.250
2.260
3.270
4.240
5.NOT



40% of 280 -8 +32 —15 x 2 = 2172

1.289
2.256
3.225
4.196
5.NOT



\? +1/6 of 216 + V512 = 108

1.256
2.4096
3.16
4.4
5.216




The population of a town is 15000. If the number of males increases by 8% and that of
females by 10%, then the population would increase to 16300. Find the number of females

in the town?

Ueh QA T FTAHEIT 15000 &1 TG goul 61 G&a1 A 8% 3R AR ™ F&am H 10% Hr ig &l

&, dl SIT9EIT d&hd 16300 @I ATTIN| AT A ATST3T hr &IT AT hITaA?

1.4000
2.3000
3.6000
4.5000
5.NOT



The average weight of 12 players in a team is increased by 1/3 kg, when one of the player
whose weight is 55 kg is replaced by an another player. What is the weight of the new

player?

Uh &TH & 12 T2 ol 39 a3 1/3 fhell 96 JATaT &, 19 55 fhell dola dTol &S # I Uk

Bl gEY &S gRT Ufaedniad fham Sar &1 A0 [&ensr &1 aote &am §?

1.57
2.59
3.62
4.65

Kg
Kg
kg

g

5.NOT



While selling an article, a shopkeeper gives a discount of 5%. If he gives a discount of
6% , he earns 15rs less as profit. What is the marked price of the article ?

Uh I& Pl dgd FAY, Th ghlAGR 5% 6 e &l ¢l Il % 6% & ge ar &, @ I8 A &
TT H 15 IUT HH HATAT &l IEJ D1 Hhd Hed AT &2

.Rs. 1200
.Rs. 1500
.Rs. 1800
.Rs. 2000
5.NOT

B~ W N -



10 men can do a work in 48 days. If the efficiency ratio of men and women is 3 ¢ 2.
Find how many days it will take 20 women to finish the same work?

10 YOV Teh i &l 48 f&Al # Y Fehd & IIG GouT 3R AT &1 G&TAT 3gurd 3 : 2 &I <A
SIS 7 38T 1T P QU A FH 20 A3t & hdar G eofar?

RNl 1.40 days
2.30 days
3.45 days
4.36 days
5.NOT




In an election, A got 35% more votes than B and B got 20% less votes than C. If the =Y
total number of votes casted were 1008, find the difference in the number of votes

casted to A and B?

Uh AT H, A BHT Jell # 35% 3k alc el AR B ¢H 20% oA dic el I srer 71T
AT DT Pol FE&AT 1008 AN, AT AN BHI STl T A hl F&IAT #H 3T AATd HITAA?

1.88
2.84
3.94
4.108
5.98



The ratio of Milk and Water in the container is 3 : 2 . If 15 liter mixture is taken out
and replaced by the Milk, the ratio become 3 : 1 then find the total quantity of

mixture in the container is ?

qrT A g¥ 3R Ul &T AUt 3 : 2 §1 A 15 offe AT e S § 3 gy gRI gfdemiid
fopam ST &, l AqUTd 3 @ 1 & ST &, d dheeR A fAN0T i FoT AT AT 2

1.25 litres
2.20 litres
3.15 litres
4.CND
5.NOT




S got married 21 years ago and his present age is 7/4 times the age at the time of his
marriage. If his brother was 4 years younger than him at the time of S’s 18th

birthday, then find the age of S brother ?

ST AT 21 Gl Tgel g5 M 3R 3TN adelel Y 3Hb faarg & AT 6 3 &1 7/4 1 & Il
S& 187 SIeAfed & HHI 3D HIS 3T 4 IV BT AT, A SHS & 3MY A1 A |

1.45 years
2.49 years
3.53 years
4.56 years
5.52 years



Average age of a group of 28 persons is 24 years. If a new person is included then the
average age rises by 1 year, then the present age of new person will be which of the

following?

28 <YThdl & Teh Wafg T AT 3 24 a¥ §. I Teh AU b ol Aol foham JTar & dr 3irad
HY 1 a¥ g¢ S &, d AC s b add T 3y RAeafaf@a & @ #ar gefe

1.25
2.27
3.32
4.30
5.53



